Mathematics 9233

Trigonometry

Trigonometric Formulas given in the Formula Booklet:


[image: image1.wmf]B

A

B

A

B

A

sin

cos

cos

sin

)

sin(

±

º

±



[image: image2.wmf]B

A

B

A

B

A

sin

sin

cos

cos

)

cos(

m

º

±



[image: image3.wmf]B

A

B

A

B

A

tan

tan

1

tan

tan

)

tan(

m

±

º

±



[image: image4.wmf]A

A

A

3

sin

4

sin

3

3

sin

-

º




[image: image5.wmf]A

A

A

cos

3

cos

4

3

cos

3

-

º



[image: image6.wmf])

(

cos

)

(

sin

2

sin

sin

2

1

2

1

Q

P

Q

P

Q

P

-

+

º

+



[image: image7.wmf])

(

sin

)

(

cos

2

sin

sin

2

1

2

1

Q

P

Q

P

Q

P

-

+

º

-



[image: image8.wmf])

(

cos

)

(

cos

2

cos

cos

2

1

2

1

Q

P

Q

P

Q

P

-

+

º

+



[image: image9.wmf])

(

sin

)

(

sin

2

cos

cos

2

1

2

1

Q

P

Q

P

Q

P

-

+

-

º

-



If 
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and
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Principal values:
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Trigonometric Formulas NOT given in the Formula Booklet:

sin2 x + cos2 x = 1

1 + tan2 x = sec2 x

1 + cot2 x = cosec2 x

sin 2x = 2 sin x cos x

cos 2x = cos2 x – sin2 x = 2cos2 x – 1 = 1 – 2 sin2 x

tan 2x =   EQ \f(2 tan x,1 – tan2 x) 

a sin x + b cos x = R sin (x + ()

where R =  EQ \r(a2 + b2)  and ( = tan–1  EQ \f(b,a) 

a sin x – b cos x = R sin (x – ()


a cos x – b sin x = R cos (x + ()

2 sin A cos B = sin (A + B) + sin (A – B)

2 cos A sin B = sin (A + B) – sin (A – B)

2 cos A cos B = cos (A + B) + cos (A – B)

–2 sin A sin B = cos (A + B) – cos (A – B)

If sin x = k, then x = n( + (–1)n ( = 180(n + (–1)n (

where ( = sin–1 k


If cos x = k, then x = 2n( ( ( = 360(n ( (


where ( = cos–1 k


If tan x = k, then x = n( + ( = 180(n + (


where ( = tan–1 k
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